Example of feedback alignment summary (Languages)
Key to traffic light system

	


[image: image1] Student

  Tutor’s feedback

 
[image: image3] Could not/Would not give information
 

[image: image4] Not applicable


Criterion 1: Use of language
	
	According to the student:
	Source of information
	According to the tutor:
	Source of information

	Main strength:


	Use of connectors
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	Use of connectors
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	Example:


	‘sin embargo’ (start of paragraph 12)
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	‘finalmente’ (last paragraph on p.3)
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	Explanation:


	This shows the structure of my argument (indicates that the next point is the opposite of the previous one)
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	This connector tells readers that the final point is about to be made. Good signposting.
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	How to build on this strength:


	Try to use more connectors from the list provided on p.99.
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	Continue using these connectors and experiment with new ones.
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	According to the student:
	Source of information
	According to the tutor:
	Source of information

	Main problem area:


	Verb tenses
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	Past tenses: preterite versus imperfect
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	Example:


	‘iba’ 
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	‘iba’
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	Correction:


	Should be ‘ido’
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	Should be ‘fue’
	
[image: image18]

	Explanation:


	Not sure
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	The verb refers to an action that occurred at a specific point in time and is now completed.
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	How to overcome this problem:
	Revise past tenses
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	Check grammar page 178 ‘Preterite or imperfect?’
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